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Questions No.
(A) i) General Awareness 20 2 -7

ii) General Intelligence and
Reasoning Ability 20 8-13

iii) Arithmetical and Numerical Ability 20 14-19
iv) Hindi Language and Comprehension 20 20-21
v) English Language and Comprehension 20 22-23

(B) Post Specific Subject-Related
Questions 100 24-45

9. Use of Calculator/Palmtop/Laptop/Other Digital Instrument!
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10. Candidates found guilty of misconduct/using unfair means in the
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11. The manner in which different questions are to be answered has
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read carefully before actually answering the questions.

12. No Rough Work Is to be done on the Answer Sheet.
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MKG-XlxrrECHLlB/1 T/06

SECTION-A
i) General Awareness

1. In India, the power to amend the 5. What is the name of the most ancient
Constitution vest in type of molecule in our universe
(A) President discovered by the scientist recently?

(B) Supreme Court (A) Helium Hydride ion-n
(C) Parliament (B) Sodium carbonate ion

(D) None of the above (C) Helium bicarbonate ion

(D) None of the above2. Which of the following infection by the
fungus emerged around the world as a
Drug Immune fungal infection?
(A) Candida auris infection

(B) Tinea corporis (Ring worms)
infection

(C) Tinea pedis (athlete's foot)
infection

(D) None of the above

6. What is "Deng Vaxia" which is
recently in news?

(A) First vaccine approved by FDA for
prevention of dengue disease

(B) A joint military exercise between
Djibouti and Denmark

(C) Which is a recently Oscar awarded
movie

3. The main aim of 'Sendai framework'
(D) None of the aboveof United Nations is

(A) Disaster Risk Reduction 7. Which of the following rivers are west
(B) Bans the usage of biological flowing rivers of Peninsular India?

weapons (A) Narmada and Tapti
(C) Bans the usage of chemical and (B) Godavari and Krishna

nuclear weapons
(C) Cauvery and Mahanadi(D) None of the above
(D) None of the above

4. Which of the following country recently
declared a climate emergency and 8. World day of water will be celebrated
became the second country to declare every year on
the same? (A) March 22
(A) Ireland (B) March 3
(B) Russia (C) September 22
(C) Japan

(D) None of the above(D) None of the above

-2-
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MKG-XIXlTECHLlB/1 T/06

'q1T( - ~
i) {Oilt:tl~ 'itI"'l&iIU

1. 'qT«f~~-q~cfit~~ 5. ~tt-q~~IRchi~611R~-q~

~ ~ ? ~mr.nlCfiR ~ ~ cinsfr~1l~ 1"3B"~ CfiT

(A) (tlS?qrn -;m:r ~ ~ ?
" r

(8) '8cn=cq r<.:tIGlI<1G1 (A) t')lRiGlJOl-=rr.tl~"""""~I-=r=~'$~

(C) ~. (8) fil~GlJOlCfllaD~G3WH ,

(0) "3Cffi-q ~ coW 1tf (C) 61RiGlJOlcill{Cfllcill~G3WH

(0) "3Cffi-q ~ coW 1tf
2. RktRiR9ct -q ~ ~-m ~ ~ B~JOlOI

~ -q"Q,Cfi~ ~~ B~JOlOI~

~-q"3'l1U ?
(A) ~ 31lfu:r B~JOlOI

(8) ~ CflTcOfw(m~) B~JOlOI'

(C) ~~ (~~~) B~JOlOI

(0) "3Cffi-q ~ "CflT{1tf

3. ~ ~ ~ ~ '~ $hJOlqch'CfiT'R~
RktRiR9ct -q ~ ~ ~ ?

(A) ~::il R9JOlt.R:RT

(8) ~ -m~ ~ >r<WT TRUCfl

(C) ~3fR{I'8IG1RCfl~~~
TRUCfl

(0) "3Cffi-q~ ~ 1tf

4. ~tt-qfm~~'ii1C1ql~3'tlqtctCflIC1~
M 3fR~~~"Cfl8~GWT~~

e-,

TTm~ ?
(A) 3'tIGI{as

(8) ~

(C) ~
(0) "3Cffi-q ~ coW 1tf

·3·

6. 'WI ~fcR:tGlI'~~, iT ~ tt -q '8JOlI;:,IIU-q

m?
(A) ~ Wr cfit ~ %g ll>Cf>41ll>"IDU

3'tjl-i'l Rct >rWl itCflT

(8) • 3fn: ~r+llch ~ ~ ~ ~

31'Rffi1

(C) ~m-q~T'fCflRmctT~

(0) "3Cffi-q ~~ 1tf

7. SlIGI$£l4)GI'qT«f cfit RktRiR9ct -q ~ ~-m
~~cfit3ffi~~?

(A) .3fR~

(8) JnGlq{) 3fR ~

(C) ~ 3fn: JOltl""ld1

(0) "3Cffi-q ~ ~1tf

8. >fir crf ~ \lK1 f~q~Pif)cil' If.1lm ~ ~ ?
(A) ~22

(8) ~3

(C) ~22

(0) "3Cffi-q ~~ 1tf

,
'J'
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fI MKG-XIXfTECHLlB/1 T/06

9. "Union Executives" consists of which of 12. Which of the following statementis is/

the following? are true about Arctic Council?
(A) Russia is the Founding Member of

(A) Council of Ministers only Arctic Council
(B) Which is a 7 member grouping of

(B} President, Vice President and nations that have territories of the
Council of Ministers with the Arctic

Prime Minister
(C) Recently India has been reelected

as an observer to the Arctic

(C) President and Vice President only Council

(D) None of the above
(D) None of the above

I 13. India's climate is affected by which of
10. Which of the following river described the following seasonal winds?

as the lifeline of the State Goa ? (A) North east monsoon

(B) South west monsoon(A) Mahadayi
(C) Both (A) and (B)

(B) Krishna
(D) None of the above

(C) Godavari
14. Which of the following statement given

(D) None of the above below is true regarding the term of the

Lok Sabha?
11. What is "Akademik Lomonosov" which (A) The term of the Lok Sabha, unless!

is recently in news? dissolved earlier is six years from

(A) World's first floating nuclear plant the date appointed for its first

meeting
(B) It is an endangered species of

(B) While a proclamation of emergency
South Africa

is in operation, this period may not
(C) "Intemational book festival" which be extended by parliament bylaw

will be held at Dublin (C) Both (A) and (B) are false

(D) None of the above (D) Both (A) and (B) are true

-4-
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9. "~CflI4qlR1CflI" RqR1Rsta .q~fcnOO

M<1Cfl{~ ~ ?

(A) ~ 4;ftqfl:~G

(8) {I~qRl, 3q{l~qRl 3fu: ~ ~
4:;f1qft~G

(C) ~ {1~qRl 3fu: 3q{l~qRl

(0) TcRf.q~cnW~

10. RQR1Rsta.q ~ ~ ~ cffi rIT3lT~ cfIT

'5flCl;t{@1~~ ?

(A) 4t1GI41

(8) ~

(C) JnGICl{)

(0) TcRf.q~cnW~

-5-
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12. 3"llchRCfl~ ~ ~ .q RQR1Rsta .q ~

~-m~~~?

(A) ~ 3"llchRCfl~ CfiT~

~~

(8) ~ 7 BGfli1<l~CfiTB1i6~~ ~

3"11chRCfl.q~

(C) ~ ~.q m«fcffi~: 3"llchRCfl~ CfiT

~a.1cfl ~ 11m ~
"II'

(0) TcRf.q~cnW~

13. ~cfIT \l1<1ClI~cffiRQR1Rsta .q~~-m

lfrwft -crcH ~ cwfT ~ ?

(A) T\R~~

(8) m-~~~
(C) (A) 3fu: (8) Gf.n

(0) TcRf.q~cnW~

14. c,ilCflBm~~.q RQR1Rsta .q"B~-m

~~~?

(A) >r~ ~ ~ ~ • "RI"fu "B 6 crf
CfCflfcfi ~ .q~ WI~ cfIT~

(8) fcrm WU ~ ~ llT't.~ ~' ~ 31cffu
~~~~ ~~ 3"llqlaCflI{1~m

(C) (A) 3fu: (8) Gf.n ~ ~

(0) (A) 3fu: (8) Gf.n~ ~
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ii) General Intelligence and Reasoning Ability

In a row of 40 boys facing the North, 24. In a survey of newspapers A, Band C,
Amar is 6th to the right of San deep and shows that Newspaper A is read by
Sandeep is 11th to the left of Vijay. If 26%, Newspaper B is read by 25%,
Amar is 28th from the right end of the Newspaper C is read by 14%, A and 8
row, what is the position of Vijay from are read by 11%, 8 and C are read by
the left end of the row ? 10%, C and A are read by 9%, Conly
(A) 17th is read by 0%.

(8) 21
st

The percentage of readers who read all
(C) 20th the three newspapers is
(D) 18th (A) 1

(8) 4

(C) 5

(D) 6

21.

22. Arrange the following words in a logical
and meaningful order:

1. Travel

2. Destination

3. Payment

4. Berth/Seat Number

5. Reservation

6. Availability of berth/seat for
reservation.

(A)

(8)

(C)
(D)

6,2,5,4,3,1

5,3,4,1,6,2

2,6,3,5,4,1

1,2,5,4,3,6

23. Find the wrong number in the number
series:

2,5,11,27,58,121,248

(A) 5

(8) 11

(C) 27

(D) 58

MKG-XIXlTECHLlB/1 T/06

25. How many such pairs of digits are
there in the number 95137248 each
of which has as many digits between
them in the number as when they are
arranged in ascending order?

(A) One

(B) Two

(C) Three

(D) More than three

26. Roshan is taller than Hardik who is shorter
than Sushil. Niza is taller than Harry but
shorter than Hardik. Sushil is shorter
than Roshan. Who is the tallest?

(A) Roshan

(B) Sushil

(C) Hardik

(D) Niza
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f1I
15. ~ -q it fcfiB ~ mCfiR ~ ~m

~~~cfi'r~~~~

~~10%~~cfiT~?·

(B) ~

(C)~~

(0) 3'dUI~~1

16. '~~~' RklR1f@(1~~fcR:r~

q)f ~ (fCl1 q)f ~~ fr.:<:r ~ ~ ?

(A) 1ffid

(B) ~

(C) ~

(0) ~

17. "IN-VPN BILATEX" RklR1f@(1 ~~fcfM

~~~ ~31'RITB~?

(C) 1ffid 3fu: ~
f

-7-
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~~~-mmFR111~FTm~ ?

(A) Rlfq;OiT~ ~ (BPA)

1 9. 'cftcrr \Jl Oi\Jl1 RF!~i' \Jl Oi\Jl1 dlll ~ R kl R1f@(1

~~fcfM~~~~~ ?

(A) ~

(B) ~

(C) (1~~0i1'R

(0) ~

20. ~ mcfiT{ ~ YB11~lq Cfl149fl11'~1ffid

~' CfiT<1~ q:lIT ~ ?

(A) ~=i;'~rf~nmtf~.lT;fhitTTlcIT~~ B~lI

(mtftur ~) ~ ~

(C) ~3it cit ~ man ~ ~ CfiBT

(0) "3Cffi~~cnW~
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[I MKG-XIXlTECHLlB/1 T/06

i i) ft 1141;::Q~~14 'it 1 'Om (11fci:i Cfi <it H04 (11

21. ~~ 3W*~~ 40~~~1ffiffl 24. fllOll~R~ A, B3fu:C~~~&1UT-q~
-q311R,~~~~~3fu:~, ~ IF-lTt~ A CfiT26%, BCfiT25%, C CfiT14%
~~ 11 ql~ I ~ 311R-cffcffi~~in:B ffill ~ ~ I A 3fu: B cnl11 %, B 3fu: C
28 qlt "ffi-c{fcffi~~in: B~~ ~

CfiT10%, C 3fu: A cnl9% IDU~~~ I
CRn~?

~Ccn10%~~ l~cfRfllOll~Rq:;tl
(A) 17 eft

CfiT~ ~ CfiT~R1~ld ~
(8) 21 eft

(C) 20eft (A) 1

(0) 18eft (B) 4

R~R1R9d ~ <iT ~ d IfChCfi 3fu: m$n (C) 5
22.

$fil1-q~1 (0) 6

1. <mIT 25. ~~ 95137248 ~ ~<iT ~$fil1-q
2.~ ~fcn<n~, ~~fcRR~~~
3.~ ~~~ 3icn~, ftRR~~~~
4. ~~/BtG~ -q~~~?

5. 31R~ (A) ~
6. 31R&1UT~~~/BtG (B) GT .

(A) 6, 2, 5, 4, 3, 1
(C) cfR

(B) 5,3,4,1,6,2
(0) cfR B 3TI''aCfi

(C) 2,6,3,5,4,1

(0) 1,2,5,4,3,6 26. ~BWr.n;fm~ 3fR~B~~

~~-qTR1cf~~cR I ~I ~UFr~r~m~~~U-rncr~1
23.

~B~~~I~~~~?
2,5,11,27,58,121,248

(A) 5 (A) ~

(B) 11 (B) ~

(C) 27 (C) ~

(0) 58 (0) ~

-9-
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27. Raj and Roy start walking in opposite
dirgctions. Raj walked 3 km and Roy
walked 4 km. Then Raj turned right
and walked 4 km and Roy turned left
and walked 3 km. How far is each
from the starting point?
(A) 4.5 km

(B) 6 km
(C) 5 km

(0) 8 km

28. Find the missing letters of the series:

a_aabb ab b

(A) b a a a a

(B) b a b a b

(C) b a a b a

(0) b b a a a

29. Choose the correct one for? .
8 128 2
4 1 64
? 32 256

(A) 14

(B) 15

(C) 16

(0) 17

30. If ACNE is coded as 3,7,29, 11, then
BOIL will be coded as

(A) 5,31,21,25

(B) 5, 31, 19, 25

(C) 5,29,19,25

(0) 5,29,19,27

-10-
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31. Five cities A, B, C, 0 and E are famous
for their lovely garden, fancy jewellery,
educational institute, blue pottery and
scents but not in the same order.
(i) A and C are neither educational

institute nor have lovely garden.
(ii) Band E are not famous for fancy

jewellery or blue pottery.
(iii) Scents and fancy jewellery have

nothing to do with A.
(iv) 0 and E are not famous for lovely

garden and fancy jewellery.
(v) 0 is not famous for educational

institute.
Then, City E is famous for
(A) Fancy Jewellery
(B) Educational institute
(C) Blue Pottery
(0) Scent

32. Three of the following words form a
group, while one does not belong to the
group. Find out that word.
(A) Eyes
(B) Hands
(C) Intestines
(0) Ears

33. If it is possible to make a meaningful
word with 2nd, 4th, 6th and 8th letters of
the word ATMOSPHERE, which of the
following will be the third letter of that
word, if more than one such word can
be formed, give 'X' as the answer and
if no such word can be formed, give 'V'
as the answer?
(A) 0
(B) E
(C) X
(0) Y
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[I
27. ~ 3fu:~iR1 fuqtld ~3ft-q~~

cn&t ~ 3 ffi.m. 3fu:~ 4 ffi.m. ~I
m~~~3fu:4ffi.m. ~3fu:~
~~ 3 ffi.m. ~ I iR131Rf~~
BfcmR~% ?

o-;

(A) 4.5 ffi.m.

(B) 6 ffi.m.

(C) 5 ffi.m.

(0) 8 ffi.m.

28. ~ a _ a a b b __ a b _ b _ ~ ~
31a:R~cR I

(A) baaaa
(B) babab
(C) baaba
(0) bbaaa

8 128 2
4 1 64
? 32 256

(A) 14
(B) 15
(C) 16
(0) 17

30. <:rfuACNECfiT~3, 7, 29, 11~, mBOIL

CfiT~~

(A) 5,31,21,25

(B) 5,31,19,25

(C) 5,29,19,25

(0) 5,29,19,27

-11-
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31. tffq~ A, B, C, 0 3fu: E~~,
~ICh~Ch 31T~, fr~*~, ;fR~~
~ 3fu:W ~ fu'Q:>r&ml~, ~ ~ 9fiT-T
-q~1

(i) A 3fu: C -q fr~ *~3fu: ~
~~~I

(ii) B 3fu: E ~ICh~Ch ~ 3fu:;fRf?@
~~~fu'Q:>r&ml~~ I

(iii) A -qW 3fu: ~ICh~Ch 31T~~~ I
(iv) 0 3fu: E -q~ ~ 3fu: ~ICh~Ch

31T~~~ I
(v) 0 fr~ *~~fu'Q:>r&ml ~ ~ I
m, ~ E fcRr ~ fu'Q:>r&ml ~ ?
(A) ~ ICh~Ch ~

(B) fr~~
(C) ;fRf?@~~

(0) W
32. R~R1Rsld -qB (fA ~ 1J,Cfi~ ~ t

~~~B~ 31T(fTICf5~~cR I
(A) 31T&

(B) ~r~
(C) ~
(0) "ChR

33. <:rfu~ ATMOSPHERE~~,~, ~
c-,

3fu: 8 it 31a:RB ~ m0cn ~ ~ ~
BCfid1tm"3B~ CfiTmm:-r 31a:RR~R1 Rsld
-qB~ -m ~, <:rfu~ 1J,CfiB 31fucn~
~ ~ ~ %, m 'X' T\R ~ 3fu: <:rfu
1tm ~ ~ ~ ~ ~ ~ t m 'V'
T\R~?
(A) 0
(B) E
(C) X

(0) Y
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II MKG-XIXfTECHLlB/1 T/06

34. How many such 5's are there in the 37. In a certain code, BRIGHTEN is written
following number series, each one of as HJSCMDSG. How is COMPLETE
which is immediately preceded by 3 or 4

written in that code?but not immediately followed by 8 or 9 ?
3 5 9 5 4 5 5 3 5 8 4 5 6 735 (A) DSDKONPD
7 5 5 4 5 2 3 5 1 0 (B) ONPDDSDK
(A) 4

(C) ONPDFUFM
(B) 5

(D) OLNBFUFM(C) 6
(D) 3 I 38. Pointing to a boy, Namrata says "He

35. Statements : is the son of my grandfather's only

1. 'All chairs are tables. child". How is that boy related to
2. No table is a book. Namrata?
3. All tables are stones. (A) Brother

Conclusions :
(B) Cousin

I. No chair is a book.
II. No stones is a book. (C) Uncle

III. Some stones are book. (D) Data inadequate

IV. All tables are chairs.
39. Today is Thursday. The day afterWhich of the conclusions can be

logically correct? 59 days will be

(A) Only I (A) Sunday
(B) Only I and either II or III (B) Monday
(C) Only I and III

(C) Tuesday
(D) Either II or III

(D) Wednesday,
36. If + stands for >, x stands for +, + stands

for +, - stands for =, > stands for x, 40. Find the similar pair in given options:
= stands for <, < stands for -, then Stool: Bench : :
which of the following alternatives is
correct? (A) Chair: Table

(A) 3 + 2 < 4 + 6 > 3 x 2 (B) Carpenter: Chair
(B) 3 x 2 < 4 + 6 + 3 < 2 (C) Foot rule: Yardstick
(C) 3 > 2 < 4 - 6 x 3 x 2

(D) Glass: Cup
(D) 3 x 2 x 4 = 6 + 3 < 2

-12-

ht
tp

s:
//w

w
w

.fr
es

he
rs

no
w

.c
om

https://www.freshersnow.com


(I
34. R8Rif@a 3lcn ~~~~ 5t~

~~3<n431R1Tt~~~

8 <n 9 ~ 31R1T?
3 5 954 5 5 3 5 8 4 5 6 7 3 5
7 5 5 4 5 2 351 0
(A) 4

(B) 5
(C) 6
(0) 3

35. ~:

1. ~~~~I

2. ~~~~~I

3. ~~~~I

R6Chti :

I. ~¢~~~I

II. ~11\~~~~ I

III. ~~~~I

IV. ~~~~I

Cht.=r--a~ aIFctCfi~-a~~?

(A) ~I

(B) ~ I 3fR<noT II <n III

(C) ~ 13fR III

(0) <noT II <n III

36. <m: > ~ ~ +, + ~ ~ x, + ~ ~ +,
= ~~-,x~~>,< ~~=,-~
~ < 31R1T~, oT R8Rif@a ~ -a cnt.:r-m

~Cfic;q ~~?
(A) 3 + 2 < 4 + 6 > 3 x 2
(B) 3 x 2 < 4 + 6 + 3 < 2
(C) 3 > 2 < 4 - 6 x 3 x 2
(0) 3 x 2 x 4 = 6 + 3 < 2

-13-
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37. ~ R~a ~~, BRIGHTEN"CfiT

HJSCMOSG ~\jfffiT~, "3Bt~~
COMPLETE "CfiT~~~?

(A) OSOKONPO

(B) ONPOOSOK

(C) ONPOFUFM

(0) OLNBFUFM

38. ~~"CfiT~~~~~, "Cf6~

~ ~ l(Cfi14I~~ CfiT~~" I ~ -a Cf6

~fcnB~~~?

(A) ~

(B) ~~

(C) :qr:qr

(0) ~~~

39. ~~~159fu;D~~ilTTT,

(A) ~
,

(B) fll14C1i{

(C) 14JI(1C1i{

(0) ~

40. ~~ ~Cfi(Y<{j~-aWiR~~cR:

~:~::

(A) ~:~

(B) ~:¢
(C) ~w: ~1'&ilCfi

(0) CfiT:q:q:;q
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iii) Arithmetical and Numerical Ability
41. The difference between the cost price 44. If A completes a job in 2 days and 8

completes the same job in 4 days, then
A and 8 together can complete the
same job in
(A) 3 days
(8) 6 days

4
(C) 3 days

(0) None of these

and selling price is f 225. If the profit

percentage is 15%, then the selling

price is

(A) f 1,500

(8) f 1,675

(C)
(0)

f 1,725

None of these

42. Area of a sector of a circle with radius
6 cm if the angle of the sector is 90°, is

(7t = 254)

(A) 200 2-cm
7

(8)
181 2-cm
7

(C) 190 2-cm
9

(0) 198 2-cm
7

43. If the sum of two positive numbers is

15 and sum of their reciprocals is ~ 0 '

then the numbers are

(A) 5,10

(8) 3, 12

(C) 4, 11

(0) None of these

-14-
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45. A sum of two numbers is 21. If the larger
is divided by the smaller, the quotient
is 2 and the remainder is 3, then the
numbers are
(A) 6, 15
(8) 7,14
(C) 8, 13
(0) 9, 12

46. In a group of 50 students, the number of
students studying French is 17, English
is 13 and Sanskrit is 15. The number of
students studying French and English
is 9, English and Sanskrit is 4, French
and Sanskrit is 5 and all the 3 subjects
is 3. Then the number of students who
study English and Sanskrit but not
French is
(A) 2
(8) 1
(C) 3
(0) None of these

47. The average age of 10 students in a
class increases by 4.8 months when a
boy of age 6 years is replaced by a new
boy. Then the age of the new boy is
(A) 10.4 years
(8) 8 years
(C) 6.4 years
(0) 10 years
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41. ~~3fu:~~-q~225cnr~~1

~mq SlRt~I(115%~,m ~~~
(A) ~ 1,500

(8) ~ 1,675

(C) ~ 1,725

(0) ~~~-;rtf

44. ~ A ~~q,l2 K-n -q3fu: 8"3W~

q,l 4 K-n -q~ Cfi\CfT~ <ITA 3fu: 8 fiI (1Cfl{

"3W "CflT4 q,l fcn<:RK-n -q ~ ~ ?
(A) 3~

(8) 6~

(C) ~ ~

(0) ~~~-;@

45. m~3TIcnr<Wr 21 ~I ~~q,l~
~ 'lWT WiT~ <IT~ 2 3fu:~ltStCf)(1
3~, <IT~@I~~
(A) 6, 15
(8) 7,14
(C) 8, 13
(0) 9,12

50 fcfwf~ ~ ~ ~ -q,%q ~ cmvnC@
~ 17, ~.~ 13 3fu:~~ 15~1
%q 3fu:~ ~ cnffi C@~ 9, ~
3fu:~~ 4, %q 3fu:~~ 5 3fu:~
3~~3~1<IT~3fu:~~~
1R %q;r ~ cnffi C@~ ~
(A) 2
(8) 1
(C) 3
(0) ~~~-;@

~6~~~q,l~~~IDU
~CRWiT~<IT 10fcfwf~
C@~cnr ~ 4.811T6~~~1 ~
~C@~~
(A) 10.4 ~
(8) 8~
(C) 6.4 ~
(0) 10~

42. ~ 8i,~msi$ cnrcFrur90° 3fu:~ 6 Wftt,

m¥~ 8i~lci$"CflT ~~ (1t = 2%)

(A) 200 Wft2
7 46.

(8) 181 Wft2
7

(C) 190 Wft2
9

(0) 198 Wft2
7

43. ~ m ~FII\qCfl ~3TI cnr<Wr15 3fu:

~ ~&llOi'j"CflT <WI 71'0 ~ <ITB@ I~ ~ 47.

(A) 5, 10

(8) 3, 12

(C) 4,11

(0) ~~~-;@

-15-
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48. A copper rod of diameter 1 cm and 51. Mr. Ram agrees to pay the rent
length 8 cm is drawn into a wire of { 30,000/- for the first year, {32,000/- for
length 18 m of uniform thickness. The the second year and so on. Each year

thickness of the wire is there will be a hike of {2,000/-. The total
amount paid by him for all 10 years is

1 (A) { 3,90,000(A) 15 cm
(8) { 3,00,000

1
(8)

30cm (C) { 4,00,000

1 (0) None of these
(C) Wcm

52. If the zeroes of the polynomial
(0) None of the above x3 - 3x2 + X + 1 are a - b, a, a + b,

then a and bare

49. If x = J3 + 1, then
X2 -2x (A) 1,±.J2
x-J3 - (8) ±1, .J2

(A) 1
- (C) 3, ± 42

(8) 3 (0) ± 3, 4
(C) 2
(0) 1

In a bag, there are coins of 1 rupee,53.

50. Which among the numbers 1:,;, 50 paise, 25 paise in the ratio 2..!.: 3 : 4.
2

8 2 h terrni . If the total of money in the bag is { 80,-, - as non- errninatinq repeating
125 5
decimal expansion? then the number of coins of 1 rupee,

15 50 paise and 25 paise respectively
(A) -

8 are

(8) 1
- (A) 48,40,643

(C)
8 (8) 64,48,40-

125
(C) 40,48,64

2
(0) -

5 (0) None of these

-16-
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54. Three years ago, the age of the father 57. The altitude of a right angled triangle is
was 8 times that of his son. Now, father 7 cm less than its base. If the hypotenuse
is 5 times as old as his son. Then the is 13 ern, then length of smallest side is

present age of the son is (A) 4 cm

(A) 5 years (8) 5 cm

(8) 7 years (C) 6 cm

(C) 6 years (0) 2 cm

(0) 3 years I 58. 10th term of the sequence
16,28,40,52, .... is

55. If Ms. Preeti had walked 2 km/hr faster,
(A) 124

she would take 60 minutes less to cover

the distance of 12 kms. Then the normal
(8) 114

speed of her is (C) 164

(0) None of these
(A) 6 km/hr

(8) 4 km/hr 2 12 8.59. HCF of - -and- IS
(C) 3 km/hr 5' 25 15

(0) 2 km/hr (A)
1-

75
56. There were 2 candidates in an election.

(8) ~
20% of people who were in the voters 75
list did not cast their votes and among (C) ~
the voters who casted the votes 50 were 25

declared invalid. The winner secured (0) E
300 more votes than the looser of the 25

election. If 45% of the total people
sin2 57° + sin2 33°60. Value of =voted in favour of the winner, the votes cos" 27° + cos" 63°

secured by the looser is
(A) tan 45°

(A) 1125
I (8) 1 + tan 45°

(8) 825

(C) 900
(C) 0

(0) 925 (0) None of these

-18-
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54. (fA ~~, N<n cf;T~ ~ cf;T~ B 3TIO

~ml~N<n~B~~~~I~
cf;T~~~

(A) 5~

(8) 7~

(C) 6~

(0) 3~

55. ~~~>fffir~ 2M /tiel~~-&rmm
12Mcf;T~ ~ Cfi8 if ~ 60 fiRG Cf)I1

e-,

wm I ~ flll1lM!:I ll'"ffi ~

(A) 6M/tiel

(8) 4 M/tiel

(C) 3M/tiel

(0) 2M/tiel

56. 1I;Cfi~if 2 Slflll~n~ll1d~ldl~if~

20% ~ ~ l1\fGR ;rtfM 3Th:l1\fGR Cfi8

~ if B 50 l1(f ~ ~ I~ ifl 300 l1(f

mG cmv)B ~'*fi ~ I ~ ~ l1\fGR Cfi8

~ifB 45% ~ifll1&lif~-illmGcmv)
WU >fTC(fl1(f ~

(A) 1125

(8) 825

(C) 900

(0) 925

-19-
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57. ~'8q~olf~r~~cf;T~~31NRB
7 W:ft Cf)I1~ I~ cnuTcf;T~ 13 W:ft ~ -ill
~miT~~
(A) 4 B.m.
(8) 5 B.m.
(C) 6 B.m.
(0) 2 B.m.

58. ~ 16, 28, 40, 52, .... cf;T10 en '1C:' ~

(A) 124

(8) 114

(C) 164

(0) ~B~;rtf

2123fu:859. - - - cFiPRrcr ~
5' 25 15

(A) _1
75

(8) ~
75

(C) ~
25

(0) ~
25

60. sin2 57° + sin2 33°
=cos" 27° + cos" 63°

(A) tan 45°

(8) 1 + tan 45°

(C) 0

(0) ~B~;rtf
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iv) Hindi Language and Comprehension
fRY ~ 3ffi it~

66. '>TfUT'~ CfiT__ q:q.:r -q >r:Wr -m-r ~ I

(A) C(Cf1C1~~

(8) rnCl~~

(C) iiI§CI~'"i

(0) (A) 3fn: (C) ~

61. '~'~CfiT~~

(A) 3'l1~£§IG'"i (8) ~

(C) 3WRT

62. \lll '$Cfl{ R1 f@ Q> :

31. ~

3lT. ~

(A) en
(8) 11

(C) "&

(0) 11

63. m G~I:SC11~ I ~ Cf1CF:f---
CfiT3GI~{OI ~ I

(A) flCflJ{Cfl

(C) rnCflJ{Cfl

(8) ~

(0) ~;n:ff

64. '~' ~ CfiT3'l;::;qk-PI ~ ~

(A) fcImq (8) fcrqq

(C) fcrw (0) qmq

65. fu:r ~ B fcnm"CflTl1 CfiTCfiBf"lIT ir.n ~
~,"3B ~~I

(A) ~

(C) ~

-20-

(8) ~

(0) &i;qI~~I~ol
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•

67. '3QfllCflI' CfiT31~ ~

(A) ~~~~CfiTf~

(8) mcnr<f cnT ~ CfiBf "C.flfu;:r m
(C) 311f.ft~~~

(0) ~ Q§~'"iI "ti~ ~ m
68. \ll1'$Cfl{ R1f@Q> :

en. ~Blffil

"&. ~"B11ffi

11. ~Blffil

t:j". H Blffil

S. ~Blffil

~ ~

3lT. ~

~. 14~lclh

t~
"3. lffi -lfR;

(A)"& en s 11 t:j"

(8) en t:j" "& s 11

(C)"& s 11 en t.i

(0) 11 en t:j" "& s

69. 3lm -q ¥9 m ;n:ff~ ~ I~ Cf1CF:f-q
flcf'"il14 ~

(A) 3l~

(C) ;n:ff
(8) ¥9

(0) ~~
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70. "li'$Cfl{ R1fu1~:

31. t:lR - t:lR CfiT
~ Lft;rr

311. ~~

~.~~
~~

f itGl1~~
31 3fT ~

"@. ~ ~'l1"Cft

~

rt. ~~~
WHT

t:f. mf.l~~
{

(A )"Cfl t:f Tf "@

(8)"Cfl "@ Tf t:f

(C)"@ "Cfl t:f Tf

(0) Tf "@ "Cfl t:f

71. ~+~=~~ ~
CfiT3~1~{OI% \

(A) ~ (8) ~
(C) cfttf (0) ~

72. '~' =-m= 4- +?:rr.
'1Q '"<I~ ~ en I~~

3~1~{OI% \

(A) ~ (8) &I§stlf%
(C) ~'qlq (0) ~

73. ~ 31ft!; mTr \ ~ ~ ~
11%\

(A) ~
(8) ~

(C) ~RI&Q<"l

(0) ~>r<Wr~%
7 4. '~"!nl1 ~ cfiT ~' ~ ~ 11~ "!nl1

~~ RI~I~ol% \
.

(A) ~Olq I'qCfl (8) {l@Ollql'qCfl

(C) {l1c:f'iIf?lCfl . (0) qfb"lIOlql'qCfl

·21·
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75. "B-m,{lc:f'i Il"I, RI~I~ol3fu:fuimih~~B

~CfiT~'qm, ~ ~~ \

(A) crq;f (8) fuxT

(C) "Cfl"RCh ( 0 ) fuim

76. fuim ih ~ ~ B Cfil7.l cxn1:ffi ih ~ ~ ih

~"CflT~m<n%, ~ ~~ \

(A) fuim (8) ~
(C) ~ (0) "Cfllf

77. >J11'$Cfl{R1fu1~:
31. ~(1CflIM

311. qdl"l HCflIM

~. ~RI&QC"CflIM

3l 3fT ~

(A) Tf "Cfl "@

(8)"Cfl Tf "@

(C)"@ "Cfl rr
(0) Tf "@ "Cfl

78. '~-~11 ~~' ~ ~1Cf11fCf(1CfiT

31~%

(A) ~-~11 f?lMlqC:~

(8) 0lf~11~~~
(C) ~-~11 f?lMlqC:~~

(0) ~ B ~-;nft

"Cfl. W1~m
"@. ~ R4~11

n. ~~m

79. ~~,"B-m 3fu: {lc:f'ill"l cfiT RI~l~(11~,

~ ~~\

(A) RI~1~ol (8) ~

(C) ~ (0) mc=cr~
80. '~'~CfiT~~~ \

(A) ~ + <R (8) ~ + 31<:R

(C) ~ + ~ (0) ~ + ~
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v) English Language and Comprehension
~ mlJfT 3iRmu

Change the following sentence into passive
voice:

81. 'The police gave him a reward.'
(A) A reward was given to him.
(B) He was given a reward by the

police.
(C) Police was given a reward.
(D) He gave the police a reward.

82. 'Prepare yourself for the worst.'
(A) The worst would be happen
(B) Be prepared for the worst
(C) You would be given the worst
(D) You would be prepared to get

worst

Fill in the blanks with appropriate preposition.

83. How we long the
good old days.
(A) for
(C) through

(B) at
(D) of

84. I jumped the opportunity
of going to Kashmir.
(A) of (B) at
(C) into (D) to

Select the indirect speech for the given
sentence:

85. Mohan said, "I want to become a
doctor".
(A) Mohan said that he wants to

become a doctor
(B) Mohan told this he want to

become a doctor
(C)' Mohan said that he wanted to

become a doctor
(D) Mohan said he want to becomes

a doctor

-22-

86. He said, "I bought a house in
Bangalore" .
(A) He said that he bought a house in

Bangalore.
(B) He said that he has bought a

house in Bangalore.
(C) He said that he buys a house in

Bangalore.
(D) He said that he had bought a

house in Bangalore.

Fill in the blanks with appropriate options:

87. I was sure that I him before.
(A) had met
(B) meet
(C) am meeting
(D) have met

88. Despite yesterday's snowfall, we
home in less than

an hour.
(A) could drive
(B) drive
(C) can drive
(D) able to drive

89. You don't object late
tonight, do you?
(A) to working (B) to work
(C) worked (D) work

90. She her holiday in Finland.
(A) told me about
(B) said
(C) told

(D) told about

, ,
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91. They directed that the building _
(A) be pulled down
(B) to be pulled down
(C) should be pulled down
(D) should pull down

Punctuate the following sentence:

92. He said I wont allow it
(A) He said 'I wont allow it'.
(B) He said 'I won't allow it.
(C) He said, 'I won't allow it.'
(D) He said, 'I wont allow it.

93. Have you seen this man before asked
the inspector.
(A) 'Have you seen this man before'

asked the inspector
(B) 'Have you seen this man before ?'

asked the Inspector.
(C) 'Have you seen this man before',

asked the Inspector.
(D) Have you seen the man before?

asked the Inspector.

94. Find an assertive sentence from the
following:
(A) Wisdom is much better than

riches.
(B) How kind of you to help him!
(C) Why worry about what people say.

(D) Stop talking.

Find the wrongly spelt word:

95. (A) Lieutenant
(B) Psychology
(C) Lieftenent

(D) Rapport

-23-
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96. (A) Distress

(B) Hach it
(C) Conjurer
(D) Transpired

Select simple sentence from the following:

97. (A) I told him that he had failed.
(B) Not only had he many friends but

also several enemies.
(C) Having read the book I returned it

to the library.
(D) Tom as well as Brown passed the

test.

98. (A) The boy who had stolen the watch
was caught.

(B) This is an old fort that was built
by Akbar.

(C) At the time when my sister died I
was only eight.

(D) Henry was delighted to see it
beginning to flower.

Select the sentence which is grammatically
wrong.

99. (A) George ran faster that me.
(B) You did it better than we.
(C) I like you better than him.
(D) One of my friends is in Delhi.

100. (A) I wrote a letter to him last week.
(B) I have written a letter to him last

week.
(C) I had written a letter.
(D) He went to the picture yesterday.

••
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SECTION-B
Post Specific Subject - Related Questions

101. Information is a 105. Memory unit's function is

(A) Communicating of news, knowledge (A) To understand and execute

or facts instructions in a logical sequence
(8) To perform arithmetic and logic

(8) Raw data functions

(C) Unorganized data (C) To receive data

(0) None of the above
(0) To hold data, instructions, processed

results

102. Which generation of computer uses 106. Indian Library Association was founded

transistors? in the year

(A) First Generation Computers (A) 1934

(8) Second Generation Computers (8) 1933

(C) Third Generation Computers
(C) 1932

(0) Fourth Generation Computers
(0) 1935

103. INFLl8NET Programme was initiated
by

(A) UGC

(8) CSIR

(C) UNESCO

(0) IFLA

104. Unity of Command implies that

(A) Strength in unity

(8) Specialization

(C) Sub-ordinate should receive orders
from one senior only

(0) Orders from anyone person

-24-

107. The main objective of the RRRLF is to

(A) Promote and support the Academic
library services in the country

(8) Promote and support the Public
library services in the country

(C) Promote and support the Special
library services in the country

(0) Promote and support the Library
associations in the country

108. LAN means

(A) Local Area Network

(8) Local Library Network

(C) Large Area Network

(0) Library Associations Network
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mrT-~
~~qmfttl&l~-~m~

101. ~~ ~I

(A) ftl""lI'qR, ~"lIT (f~CfiT ~

(8) ~~

(C) ~Bllfdd ~

(0) 3q4<td ~it~~

102. ~~~-mi:ft<tt <;;i~RDCfiT>rWr

cn@~ ?

(A) >T~ i:ft<tt~
(8) fufm i:ft<tt~

(C) ~i:ft<tt~

(0) ~i:ft<tt~

105. ~~CfiT~~

(A) ~ CfiT ~ dlfChCfl sm ~ flq~H I 3fu:
CflI<!OJTHd CfiB1

(8) llfUldl<!OJ 3fu: dlfChCfl ~ CfiB1

(C) ~ )1TC(f CfiB1

(0) ~,~, SlBf'"fld qf{ollyl CfiT
~

106. ~ 3'R1CflI<:'1<!OJl(~lfBl(~H ~ooq;n~
___ ~~I

(A) 1934

(8) 1933

(C) 1932

(0) 1935

RRRLF CfiT~ ~~ ~

(A) ~ ~ frf~ 3'R1 Cfll <:'1<!OJWn3=tl CfiT
~ 3Tn: fl~4'PIt.n

(8) ~ ~~ 3'R1CflI<:'1<!OJWn3=tl-CflT~
3fu: fl~41ll ~

(C) ~ ~ ~ 3'R1CflI<:'1<!OJWn3TI -CflT~
3fu:~~

(0) ~ ~ 3'R1CflI <:'1<!OJl(~'1 fB l(~ !oil CfiT ~
3fu: fl~4'PI~ .

INFLl8NET CflI4s;flQ IDU 107.

~fcmTllml

(A) UGC

(8) CSIR

(C) UNESCO

(0) IFLA

103.

~ ~ ~ CfiT31~~

(A) ~~~ 108.

(8) fCI:(}t:I~d I

(C) 31~cnl~~m~it

~~~

(0) ~~lIDl~it~

104.

-25-

LAN CfiT31~~

(A) ~~~

(8) ~ <:'11~~{) ~

(C) ~~~

(0) <:'11~~{) l(~lfBl(~H ~
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109. Who was the first awardee of Ph.D. in 113. Universal Availability of Publication is a

Library Science in India from University programme of

of Delhi? (A) IFLA
(A) S. R. Ranganathan (B) UNESCO
(B) B. S. Keshavan (C) FID
(C) D. B. Krishnarao

(D) Library of Congress
(D) G. Bhattacharya

114. Which one of the following protocols is
110. lATUS is an association of used in transferring file over internet?

(A) Special Librarians (A) POP
(B) Librarians of Public Libraries

(B) FTP
(C) Librarians of Teacher's Training

(C) SMTP
Colleges

(D) TCP/IP
(D) Library Science Teachers in India

115. Which of the following is not a secondary
111. Feedback mechanism is a part of which

source of information?
service?

(A) CAS
(A) An encyclopedia

(B) SDI (B) A textbook

(C) Reprography Service (C) Patents

(D) Translation Service (D) Indexing services

112. American Library Association was 116. Colon classification is a system of

established in Library classification developed by

(A) 1877 (A) S. R. Ranganathan

(B) 1878 (B) Melvil Dewey

(C) 1876 (C) C. A. Cutter

(D) 1800 (D) H. E. Bliss
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109. ~ fu~qfu81f111 if ~ if ~'R1Chlflll

~if~.it. )W:(fcn8~~~
etA~ ?

(A) ~. 31R. \l"RT~

(8) ~.~.~

(C) it.~. <'f60l{lq

(D) ~. ~gl:t:1I4

110. lATUS CflT~ l{filml{~H ~I

(A) fu~lt5C fll$~f{ll'"i

(8) ~ ~'R1Chlfl\!:jl~ fll$~f{ll'"i

(C) fu!;1cfi ~8JUT ~ ~ fli $~f{ll '"i

(D) ~ if ~'R1Chifill ~ ~ fu!;1cfi

111. $IR1 f9hlll >fUTTffi fcR:r -Ben CflT~ ~ ?

(A) CAS

(8) SOl

(C) SlmR1fL1Ch{OI~

(D) ~~

112. 3"l~RCh'"ifli $~{) l{B'I m ~ H cfiT ~
if~1

(A) 1877

(8) 1878

(C) 1876

(D) 1800

-27-
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113. SlCflI~HC@mchtlfilChJq~dl _

CflT~ Chl4SfiQ~ I

(A) IFLA

(8) UNESCO

(C) FIO

(D) fll$~{) 311q)~

114. ~'Cf{~cit~Hidf{d cn8if
pp•..,R1f@d if if etA -m Si)i)ChTfI~

iRfi~ ?

(A) POP

(8) FTP

(C) SMTP

(D) TCP/IP

115. RyR1f@d ififetA-m~CflT ffiffillCh~

~~?
(A) fu~qch1t51

(8) ql~'4~'R1Ch

(C) iRz
(D) ({-qChichl~

116. ~ qlffch(OI WU fuChmd

~'R1Chlflll ql ffCfl(OIcfiT ~ ~ ~ I

(A) ~.31R.~

(8) ~~f1 ~

(C) m.~.CR:{

(D) 10f.t ~
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117. Madras (Tamil Nadu) Public Library Act 122. Bern Convention (1886) is associated
was enacted in the year with
(A) 1947

(A) Translations
(8) 1948

(C) 1958 (8) Copyright

(D) 1950 (C) Standards

(D) Patent118. Library of Congress is the national
library of

123. Library building is the result of
(A) Germany

co-operation between the Librarian
(8) India

and
(C) Japan

(D) USA (A) Finance Officer

(8) Architect
119. Information relating to Defense Studies

are provided by (C) Registrar

(A) INSDOC (D) Principal

(8) DESIDOC
124. Which of the following is/are the(C) NASSDOC

(D) NML basic requirements for the library

automation?
120. School, College and University libraries

constitute (A) Computer Hardware

(A) Academic Libraries (8) Library Software
(8) Public Libraries (C) Finance
(C) Special Libraries

(D) All of the above
(D) Research Libraries

125. Call number generally consists of
121. Which of the following is/are the search

engine? (A) Class number, book number and

(A) Google collection number
(8) Yahoo (B) Class number
(C) Altavista

(C) Book number
(D) All of the above

(D) None of the above
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~ 1~~{13lftn cniim CfiT TTrdb-r
"IXI~ 123. 3{{1CfiI~1I~ 3fn: ~1~~f{1I'"i

3{{1CfiI~1I~ I ----
(A) ~ ~ ~ '8~<:i'1l1CfiT qf{OIIl:~~ I

(8) muf
(e) ~

(D) ~~.~.

\lID~~~~ _
IDU~~~~I
(A) INSDoe

(8) DESIDoe

(e) NASSDoe

(D) NML

[I
117. ~ (i.1f?!~'"iI~J ~ 3{{1CfiI~1I ~

qq -q 3lRIRlIf?!i.1 ~;m I

(A) 1947

,(8) 1948

(e) 1958

(D) 1950

118.

119.

fClill~lI, lOj~lfClill~lI 3fn: fCI~qfCIill~lI ~

3{{1CfiI~1I ~ ~ I

(A) ~a.1cf) 3{{1CfiI~1I

(8) ~ 3{{1CfiI~1I

(e) ~ 3{{1CfiI~1I

(D) ~ 3{{1CfiI~1I

121. R8R1R9i.1-q~~-~~~~?

(A) ~

(8) ~
(e) 3"1("201fCI'R]

(D) 3QgCffi ~

120.

-29-
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122. Gf.f Cfi~~H (1886) ~~~ I

(A) ~

(8) CfiT4hl~c

(e) liHCfi

(D) itR

(A)m~

(8) ql~~llf5/1

(e) q~lICfi

(D) m:lHloql4

124. 3{{1CfiI~1I fqoql~'"i ~~ 31T~

3"llq~lICfii.1I~PII:'"iR1R9i.1-q~cnt.:r-fft~?

(A) ~ t:m;~lI(

(8) 3{{1CfiI~1I '8TCfc~lI(

(e) m
(D) 3QgCffi ~

125. ~~'8llOjl'""lli.1: cft~
~~I

(A) CfilID~, ~ ~ 3fn: fiCfi~'"i

B&n

(8) CfilID~

(e) ~~

(D) 3Q~ -q~~-;rcff
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126. OPAC stands for 131. Which one of the following is set up
(A) Online Private Access Catalogue by Indian Council of Social Science
(B) Online Periodicals Access Research (ICSSR) ?

Catalogue (A) NISCAIR
(C) Online Public Access Catalogue (B) DESIDOC
(D) Online Public Access

(C) NASSDOC
Classification

(D) INSDOC
127. ISSN consists of

(A) 10 digits 132. A facility through which messages

(B) 7 digits can be exchanged electronically by
computer networks is called(C) 8 digits

(D) 13 digits (A) TCP/IP

(B) E-Mail
128. The catalogue card has been

(C) IP
standardization at

(D) FTP(A) 7.5 x 12.5 cm

(B) 8.5 x 12.5 cm 133. Damaged books which cannot be
(C) 6.5 x 11.5 cm repaired are withdrawn from the library
(D) 6.5 x 12.5 cm is known as

129. A person who receives the message is (A) Shelving

(A) Receiver (B) Weeding

(B) Feedback (C) Circulating

(C) Encoding (D) Acquisition

(D) Message
134. A client-server based distributed

130. The mathematical theory of hypertext and multimedia information
communication developed by system on the internet is called
(A) Shannon and Weaver (A) World Wide Web
(B) Lasswell (B) Search Engine
(C) Allen Kent (C) Web Browser
(D) Khettermore

(D) Remote Login
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126. oPAeCfiT31'4~

(A) 3'll'C1I~"i ~~ ~GIC1Tll

(8) 3'lT"iC1I~"icf)f{<?I~Cfl<:({~ ~GIC1Tll

(e) 3'lT"iC1I~"iqRiCfl ~ ~GIC1Tll

(0) 3'lT"C1I~'iqRiCfl ~ CfC1lmfq;Ch~H

MKG-XIXlTECHLlB/1 T/06

131. PlIR;jR1fut("1~ it ~-m ~ BIl""lIN1Cfl

fcGrR ~ ~ (leSSR) "00 ~

Tf<n ~ ?
(A) NlseAIR

(8) DESIDoe

(e) NASSDoe

(D) INSDoe

132. ~~m~mu:mit~ R4'{!dl<1~

it~~"OO~~~
(A) TeP/IP

128. .~GIC1Tll'Cfll"t 'R GHch11i("1-wn (8) ~-~

Tf<n ~ I (e) IP

(A) 7.5 x 12.5 it.lft. (D) FTP

(8) 8.5 x 12.5 it.lft.
(e) 6.5 x 11.5 it.lft.
(D) 6.5 x 12.5 it.lft.

129. ~>rfl:(fcnG~~~

(A) SlIC(1Cfl("11

(8) SlRlf9h<11

(e) ~Cfi"8T

(D) ~

127. ISSN CfiT~mcn~ I

(A) 10 3=!Cfi

(8) 7 3=!Cfi

(e) 8 3=!Cfi

(D) 13 3=!Cfi

133. a:1 RI~«1 ~ ~ l=W~«Fl1ffcRt~ ~
~ :i«1CflIC1<1it ~ iW:rT \lffifT ~, ~

____ Cfl~C1I("11~ I

(A) ~"\I~'ll

(8) cf\Wr
(e) B{~#IRll

(D) q:qcj)Gi~H

130. ~CfiT llfUlct1<1~ "00 134. ~11\~-"BCR 31T'aR11\~1~q{2CfR:

R4Cflm("1fcnm ~ I 3'fR G",C!)41~<11~ ~"CflT _

(A) $TI;:r 3fu: c;ftcr{ ~ ~ I

(8) AB~C1 (A) ~ ~ ~

(e) ~~ (8) ~~

(0) @~Vil{ (e) ~ ~
(0) fD:ITG ffirr B
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135. OCLC was established in the year 140. Kardex is for maintaining visible
(A) 1967 records of

(B) 1978 (A) Books

(C) 1966 (B) Thesis

(C) Periodicals(D) 1960
(D) Manuscript

136. The MARC tag 250 is
141. The oral communication is also

(A) Publication, distribution, date etc called as
(B) Edition Area (A) Formal Communication
(C) Series added entry (title) (B) Verbal Communication
(D) Personal name subject heading (C) Non-Verbal Communication

(D) Informal Communication
137. Which of the following is not a library

housekeeping operation? 142. Facebook is a

(A) Acquisition system (A) Social networking service

(B) Serials control (B) Web browser

(C) Cataloguing (C) Search engine
(D) Database(D) Book exhibition

143. Which of the following is correct about
138. AGRIS is an international information e-books?

system for
(A) Printed version of book

(A) Agricultural Science and (B) Electronic versions of book that are
Technology delivered is consumers in digital

(B) Architecture formats

(C) Engineering (C) Any book available in the library

(D) Social Science only
(D) Book available in anywhere

139. A binary digit is usually represented as
Libsys software was developed by144.

(A) 1 and 2
(A) INFLIBNET

(B) o and 2
(B) Datapro Consultancy

(C) o and 1 (C) Libsys Corporation
(D) None of these (D) U and I Software Pvt. Ltd.
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137. R8RiRsid -ij -acnt.:r-m ~ ~'R1Cf)R14

(@(@ICl qf{:qI<'FI ~t ?
(A) ~ >fUTTffi

(8) ~ R~51ol

(C) ~(,J<.1TJI~

(O)~~

138. AGRIS ~~~~dU~4

~ >fUTTffi t I

(A) ~ ~ 3fu: sil~.ilfT1chl
(8) ClI*1!tllf51

(C) ~4 i8!chl
(0) fllql~Cf) ~

MKG-XlxrrECHLlB/1 T/06

141. SOflRsiCf)~ ~ Cf)t:<.1ldI % I
(A) 3Of1Q:q1f{Cf)~

(8) l4lRsiCf)~

(C) fn: IfIRsiCf)~

(0) 3'l-11Q:qlf{Cf)~

142. q;fl~Cf) ~ % I

(A) ~ ~cClF<tJI Ben
(8) ~~

(C) ~~

(0) :Slcl~fl

143. ~-~ ~ ~ -ij R8RiRsid -ij -a cnt.:r-m
~%?
(A) ~CfiT~B%(OI

(8) ~CfiT ~~Cf?TRCf)B%(OI ~mt:Cficir

fS'Jftc<.1)ffiC\q -ij W:rr ~ % I

(C) ~ ~ ~ ~ ~'R1Cf)1<.14-ij
~1TI

(0) Cfitf~~~

139. ~~~~fllql<=lld: ~ 144. RiRw flTq:c:~4( IDU
~ -q GWn ~ % I NCf)rnd MTflIT I
(A) 1 3fu: 2 (A) INFLIBNET
(8) 0 3fu: 2 (8) ~ chfl<:~~1

(C) o3fu: 1 (C) RiMfl Cf)Tcm!tH

(0) ~-a~~ (0) ~1i,:s~ flTq:c:~4(~ RifGl:S
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145. Internet explorer is the 150. Which of the following can be
(A) Search engine considered as formal channels of
(B) Web browser communication?
(C) Social networking site (A) Books, Periodicals, Conference
(D) Database Proceedings

146. The word information is comes (B) Research Reports,

from the Correspondence, Books

(A) Latin word (C) Short Communication, Journals,
(B) Greek word E-Mail, Theses

(C) French word (D) Conversations, Electronic Journals,
(D) Russian word Research Reports

147. Language barrier is overcome by 151. The term hypertext was coined by
(A) Translation service (A) Nalimov
(B) Foreign exchange

(B) Bradford
(C) Glossary

(C) Ted Nelson(D) Referring
(D) Beesman

148. Which of the following is not related with
the communication system? 152. A financial statement of the estimated
(A) Sender revenues and expenditures of an

(B) Recipient institution in a definite period of time is

(C) Channel known as

(D) Entropy (A) Finance

149. Which one of the following is not (B) Expenditure

the functions of library maintenance (C) Budget
section? (D) Income
(A) Arrangement of the documents on

the shelves and organization of the 153. IASLIC was founded in the year
stock room of the library (A) 1952

(8) Library software installation
(B) 1955

(C) Dusting and cleaning of collection
(C) 1954

(D) Preparation and maintenance of
guides (D) 1956
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~ " ~I Pi8kifutct -ij -BM~iti ~q'qIn:Cfi145. q:CfBL<.11H 150.

(A) ~~ ~l=fHT~~~?
(8) ~~ (A) ~,qm~I~Cfi<:~, ~cilf1'"l
(C) ~ ~C:Clptll ~

Cfi14Cllift'Qi
(0) ;S1C:1~~

(8) ~ftqli, Q5l1'qR, ~

146. ~ ~Cf)14~1'"I -B31TdT~I (C) ~~,~,~-~,~~
(A) ~~

(0) ~,~€lCf?TRCfi~, ~'qR
(8) mcn~

ftqli
(C)

• 0 f'\

ShI~I~I~

(0) ~~ 151. ~1~qRCfR:~ "IDU"fu<n TBn I

~~CfiT "IDU1:fT{~ (A) A -,147. '"l!(11OiICl

~~~I (8) ~;schlt
(A) ~Wn

(C) ~~
(8) mw ~R~'Q

4l~~'"l(C) ~IcilGchltSl (0)

(0) ~
~ Pi~ct ~~'Q IClm -ij ~ ~~ iti152.

Pi 8ki futct -ij -BcFR -m~ >TUWft iti Bm 3i iCfiki ct ~ 3fu: ~ CfiT~ fcrcRur148.
Bm<cm~~ ? Cfi~f1lct I ~ I

(A) m (A) m
(8) $IILctCfict1
(C) ~

(8) ~

(0) ~111lf (C) ~

Pi 8 ki fut ct it -BcFR - m ~«1 CfiIC1'Q ~&lUT
(0) 31T'Q"

149.
>fmTT CfiTCf1T4~ ~ ? 153. IASLlC~~~ -ij~1
(A) 3iC1~lf{~l -ij ~«11~~1 eFt ~~ 3fR

(A) 1952
3«1 CfiIC1'Qiti ~;sR1J~ CfiT~

(8) 1955(8) ~«1 CfiIC1'Q ~ Tqc:~'Q{ ~ CfiBf

(C) ~CfiC1'"i~ BTCfl-~ (C) 1954

(0) lTT¢ CfiT~ 3fR ~~ CfiBf (0) 1956
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154. Universal BibliographiC Control was a 158. Who is considered as the father of the
programme of classical school ?

(A) Chester Barnard
(A) UNESCO

(B) Urwick
(B) FID (C) Max Webber
(C) OCLC (D) Henry Fayol

(D) IFLA 159. Which law of library science emphasis
on library working hours?

155. The concept of Management by
(A) First Law

Objectives was propounded by
(B) Second Law

(A) Maslow (C) Third Law

(B) Peter Drucker (D) Fourth Law

(C) Herzberg 160. Douglas McGregor is known for the
(D) Henry Fayol (A) Two Factor Theory

(B) Theory of Leadership
156. First University in the country that

(C) Management Grid
started M.Lib.Sc. is

(D) Theory X & Theory Y
(A) University of Madras

161. The person associated with public library
(B) University of Delhi

movement in the State of Baroda
(C) SNDT Women University, (A) Balaji Baji Rao

Bombay (B) Shambhaji Rao

(D) Aligarh Muslim University (C) Maharaja Sayaji Rao Gaikwad

(D) Shivaji
157. Raja Ram Mohan Roy Library Foundation

established by 162. In Delivery of Books Act in India was
passed in the year

(A) Ministry of Finance
(A) 1955

(B) Ministry of Defense
(B) 1954

(C) Ministry of Culture (C) 1956
(D) Ministry of Human Resource (D) 1957

Development
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154. ~~R~~OI CfiT 158. :t11@<OJ~~IC1<OJCfiT-NffiM Cfim ~ t ?
~ CflI%lOl '4T I (A) ~~

(A) UNESCO (8) ~

(C) ~~
(8) FIO

(0) t.m~
(C) OCLC

159. 3«1 Cflk1<OJ~ CfiTcnt.l- rn -Rwi 3«1 CfllC1<OJ
(0) IFLA ~cnr<ftWtR~~~ ?

155. ~~~~cfiT BCfl0FlI
(A) )f~~

(8) ~~
SlmQIRd cfiT~1

(C) cftmT~
(A) l1ffi1T

(0) ~~

(8) w~
160. ~ ~Cfl~lRc€r ~~~

(C) ~ ~tl

(0) t.mq)1~1C1 (A) rnCflRCfl ~

(8) ~~
156. ~.~. ~CfiT ~ Cfl{~ql<11 ~CfiT (C) ~ms

)f~ ~~q~~IC1<OJ t (0) ~x3fu:~y

(A) <iRqfBil ~ l100 ~ ~ if ~14'J1RCf) 3«1CflIC1<OJ31ic;IC1'"i it161.

(8) <iRq fBil ~ fu;ffi ~~t

(C) ~.~.m.it. ~ ~qfBil, ~
(A) cillC1lZlf) ~UCf

(8) ~UCf
(0) ~ t!@t1Ol <£8qfBil (C) lOl~RI'J11~UCf 1II <OJCflq Is

U'J11Uti ~ DGf 3«1CflI<1<OJq)k~~:tH
(0) ~lqlZlf)

157.

IDU~Mrrml 162. pcfiT P 3lf~ ~ if~
(A) mq~lC1l1

if 1:flfuf M rrm I

(A) 1955
(8) \8:TT 1Ol~1C111 (8) 1954
(C) B*ilm q~ 1<.111 (C) 1956

(0) liRCf"ffi:m:R~ q~ 1C111 (0) 1957
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163. Who stated "the best reading for the 168. Association of Special Libraries and
largest number at the least cost" ? Information Bureaux (ASLlB) is the
(A) Melvil Dewey special library of

(B) C. A. Cutter (A) USA

(C) Maslow (B) UK

(D) Ranganathan (C) India

(D) France
164. 'Indian Books in Print' is a

The service that keeps its users well169.
(A) National Bibliography

informed and up-to-date with current
(B) Trade Bibliography literature of their field of basic interest
(C) Subject Bibliography is known as
(D) International Bibliography (A) Abstracting service

165. Visual representation of the spread or (B) Current awareness service

distribution of data is known as (C) Indexing service

(A) Check Sheets (D) Translation service

(B) Scatter diagram 170. Which of the following is the oldest and
(C) Histogram largest association in the world?
(D) Control Chart (A) Indian Library Association

166. Which of the following is meta search (B) Association of Special Libraries and

engine? Information Bureau

(A) Dogpile (C) International Federation of Library

(B) Internet explorer Associations and Institutions

(C) Google Chrome (D) American Library Association

(D) Yahoo 171. Paul Otlet and Henri La Fontaine were
instrumental in the establishment of167. INSPEC database covering
(A) FID

(A) Physics and Engineering
(B) IFLA(B) Agriculture
(C) UBC(C) Chemistry
(D) UAP(D) Education
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168. Q;(=tlmQ;~H 31iq) ~ (11~~ f{\Ji

-cts ~"lhT4~H~ (ASLl8) _

CfiT ~ 8lf(,Fh 1(14 t I

(A) ~"Q;B."Q;.
(8) ~.~.

(C) m\ij

(0) $R1

169. CfflWn"\J1T~~~~~ ~~
~ fllref4 ~ Sl'4'!cffll CfiT~ 3fu:
~~t
(A) ~Wn
(8) fll1f1ll1~Cf) \JiIJ 1{lCf)d1Wn
(C) ~.qCf)iCf)'"iitcn
(0) ~Wn

170. PIl:41k1U9d -q ~ Cht.l-m ~ cfa ~

~ 3fu:~ Q;B'lm~H t?
(A) ~ (11~~{l ~fllm~H

(8) ~lm~H ~ ~ (11~~f{\Ji ~

~;X;T4~H~

(C) ~cX~~H(1W~H 3lfcn~ Q;BlfB~~I'*l
~~0~1'*l

(0) 3iqf{Cf)'"i (11~~{l ~fllmQ;~H

167. INSPEC '5IGI~fI CfiT~ 171. ~~3fu:t.roffi~ _
CRdT t I cfa ~ -q 3QCf){OO;q~ I

(A) ~ ~ Wl;q i8!chl
(8) ~

(C) mm~
(0) fu~

m
"~~1R~~~~163. . ~b.-"" l\"l~

flc01'1l11:f&f" fcR:R ~ ?
(A) q~(1 ~

(8) m."Q;. CR.\

(C) ~

(0) \TRT~

164. '~wm~f5iG' ~ t I

(A)~~

(8) <X:fNT{ ~

(C)~~

(0) ~dU~4"ti~

165. ~ ~ ~ <:IT fc«RuT CfiT ~ Sl*{!RiCf){OI

Cf)~(1ldl t I----
(A) $n~
(8) fud{Jq ~

(C) ~m
(0) R~?tOI ~

(A) '5TJIQ1~(1

(8) ~ Q;CfBl{1'IH

(C) ~~

(0) ~
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(A) FIO

(8) IFLA

(C) U8C

(0) UAP
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(I MKG-XlxrrECHLlB/1 T/06

172. Original scientific paper, describing new 177. Shelf list is used for the purpose of
research, techniques or apparatus is (A) Bindingtermed as
(A) Secondary Sources (B) Classification

(B) Tertiary Sources (C) Weeding out
(C) Primary Sources (D) Stock verification
(D) None of the above

, 178. Who introduced Browne charging
173. A publication which is issued annually I method?

for the purpose of current information in
(A) Ralph R. Shawnarrative statistical or directory form is

known as (B) Bousfield
(A) Dictionary (C) Nina Browne
(B) Yearbook

(D) Ranganathan
(C) Encyclopedia
(D) Handbook I 179. INDEST is a

174. National Union Catalogue of Scientific (A) Library Consortia
Serials in India is (B) Library Classification
(A) Citation Database

(C) Library Catalogue
(B) Statistical Abstract

(D) Indexing Service(C) Union Catalogue
(D) Trend Report

180. Subject catalogue is a
175. Dewey Decimal Classification was first (A) Catalogue of Subject entries

published in
(B) Catalogue of Author entries(A) 1876

(B) 1877 (C) Catalogue of Publisher entries

(C) 1976 (D) Catalogue of Title entries
(D) 1872 181. Which one of the following is not a

176. Rules For a Dictionary Catalogue was input device?
published in 1876 by (A) Keyboard
(A) S. R. Ranganathan

(B) Printer
(B) OCLC

(C) Mouse(C) C. A. Cutter

(D) ALA (D) Touch screen
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172. ~ ~, <'1Cfl·ftchi3fu: 3QCfl{UnCfiTfcrcRuT
~~qIJ\ ~ ~~IIRCfl ~f(1I~\J1 _
Cfl6(11<'11% I

(A) ffidl~Cfl W<T
(8) <1dl~CflW<T
(C) ~W<T
(0) 3Q~ct<1-q -B ~ ~

173. ~ SlCflI~H iT qlrtCfl ~ -B q)~FlI\qCfl,
~il@chl~ 7:JTsl4{~ ~ ~ -q ~ ~
~ ~ -B ~ ~ \ifT<1T% _
Cfl6(11<'11% I

(A) ~1<i>Gch1~I

(8) ~~
(C) q:<=B I ~(t<"i'left fu~I

(0) ~

174. ~-q~~~C:I(1Tll31fq;~I{R:i%Cfl
~:fm~cr~%

(A) ~ slC:I~~

(8) ~ il@chl~ wOO
(C) ~ ~C:I(1Tll

(0) ~wni
175. ~ ~~lq(1q qlffCfl{UI ~Gffi ----

-q SlCflI~I<'1~ TJGITI
(A) 1876
(8) 1877
(C) 1976
(0) 1872

176. "QY-fi~1<i>Gc:h)~1~C:I(1Tll ~ ~ ~ 1876 -q
____ ~ SlCflI~I<'1-chl"~ I

(A) ~. 31R. "(fR12.R

(8) OCLC
(C) m."Q,. CfiG{

(0) ALA
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177. 31WITft ~ __ ~ ~ -B wfrT-chl"

~%I

(A) ~

(8) qlffCfl{UI

(C) ~

(0) ~ ~("'llIQ'i

178. ~~fcW:rfcRH~-chl"?

(A) D?f) 31R. m
(8) ill3flch1crs

(C) ";:ft;n ~

(0) ~

179. INOEST"QY-fi

(A) ~CflI(1~ ~

(8) 3f(1CflI(1~ ql\Tctl{UI

(C) 3f(1CflI(1~ ~C:I(1Tll

(0) ({.qCflICfl'i Wn

180. ~ ~C:I(1Tll"QY-fi

(A) ~ SlfCI~'41 CfiT~C:I(1Tll

(8) ~ SlfCI~41 CfiT~C:I(1Tll

(C) SlCflI~H SlfCI~41 CfiT~C:I(1Tll

(0) ~ SlfCI~'41 CfiT~C:I(1Tll

181. R8R1Us!<'1-q -B cnt.l-m"Q,Cfl ~ fuql~~

~%?

(A) ~

(8) fW:
(C) l1T3B

(0) cq~
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f1I MKG-XIXfTECHUB/1 T/OS

182. Reference service is the "process of 186. Referral service is
establishing right content between a (A) Direct user to a sources of

reader and his document in a personal information
(8) Helping reader in selection of right

way" is stated by book
(A) Wyer (C) The other name of Abstracting

Service(B) H. P.Luhn
(D) The other name of Indexing

(C) S. R. Ranganathan Service

(D) Dennis Grogan 187. Lexicon refers to

183. Library Exhibitions are considered as
(A) Bibliography
(8) Dictionary

one of the form of (C) Encyclopedia
(A) Initiation of freshman (D) Yearbook

(B) Extension service 188. Electronic documents are

(C) Technical service (A) Collections of documents stored in
electronic form

(D) Current awareness service (8) Covers texts, images, audio-visual
materials only

184. Employing persons to work in an (C) Electronically available Science
organization to fit into positions with a and Technology Information only

well defined job description is called (D) Collections of documents

(A) Recruitment 189. The ability to recognize when information

(B) Coaching
is needed and have the ability to locate,
evaluate and use effectively the needed

(C) Deployment information is known as

(D) Induction
(A) Computer Literacy
(B) Media Literacy

185. Karnataka Public Library Act was (C) Digital Literacy

enacted in the year (D) Information Literacy

(A) 1965 190. A programme or a set of instruction
used on a computer system for data

(B) 1967 processing is called
(C) 1979 (A) Hardware

(D) 1960 (8) Software
(C) Computer
(D) Modem
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fII
182. ~W;rr"~~~~~~3fR

~Gfdl~'iil~~W~~Cfi8

cfiT~~"I~ WU~TTm I

(A) cft3l\

(8) ~. ft. ~
(C) ~.3lR.~

(0) ~!WR

MKG-XIXlTECHlIBI1T/06

186. ~Wn ~I
(A) Sllf'i<ffll~ ~ ~ ~ mo oct
(8) mft"~~~~cfiT~t5p.w'
(C) mmr Wn CfiT31r<J ;rrq
(0) ~.qCf)iCf)'"!W;rrCfiT31r<J ;rrq

187. McR"f)Cf)T'"! ~ ~ ~ I
(A) ~q(Cf)dl

(8) ~1~q,1~1
(C) Q\«e I~Ctt11cf) ~~ I

(0) ~Wfi

~MCf~1RCf)G«1I~'iil ~ I
(A) ~MCf?rRCf) ~ ~ ~ Gfdl~·il CF.T

tlCf)~H

(8) ~~~,~, ~Mf~~5!~cn~
~~

(C) ~ ~MCf?lRCf)~~~Na~~rF.nfR .3·frr
dCf);ftCf)~

(0) Gfdl~\Jll CfiT~Cf)cl'i

~ ~ ~ICF~~Cf)dl ~ ~, ~ ~-:f.t
cfit ~ q ~lq~~Cfi ~ CfiT'Till "R11l?-f~
Jf?"l1Cf)'"lCfi8 3fR >NTCft ~ ~ mr m ;f.t
~ Cf)~M,(ft~ I

(A) ~m~
(8) ~m~
(C) ~\l{)tf1 m&mfT

(0) ~m8Rm

~ SI~fCfl(O' ~ ~ ~ ci1~ >fUrrctt
~ ~ ~ CfiT~ e~fe=cFI~n ·~r4~i.1
___ Cf)~f1'd' ~ I
(A) ~I~~~(

(8) tlTCfG~~{
(C) ~
(0) ~

183. :'fR1Cf)If1~ ~ cnnJ:Cf)~

l1Fft~~ I

(A) ~ cfiT~3lRf
188.

(8) fCI fdl(O I W;rr

(C) d Cf);ftchl W;rr

(0) tl4t114~chl 'iilIJI{i.'\Cf)dlW;rr

184. ~~~fcrCRUT~~~~

mft"~~~~WRH~~CfiT~~
WTRT Cf)~f1ldl ~ I 189.

(A) ~

(8) ~

(C) ~ ~ ~Cf)If1'"! I

(0) ~"rq f1 Cfi8T

185. Cf)'"!ltCf)\if.{ ~«1Cf)R1~ ~ CfiT~
~ llTfurf~m TTmI 190.

(A) 1965

(8) 1967

(C) 1979

(0) 1960
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fIj MKG-XIXlTECHLlB/1 T/06

191. Mnemonics meant 196. In the acronym 'POSDCORB', the letter
(A) To remember 'P' stands for

(B) Isolate (A) Project

(C) Redundancy (B) Programme

(D) Specials (C) Planning
(D) Position

192. What is internet?

(A) Local area network 197. If a library budget does not take into

(B) Metropolitan area network
account of what happened in the
past but emphasizes on the current

(C) A physical layer device activities is
(D) Network of network, scattered all (A) PPBS

over the world (B) Zero Based BUdgeting

193. Notation system in UDC is (C) Performance BUdgeting

(A) Linear Notation (D) Formula BUdgeting

(B) Mixed Notation 198. Which is/are not the part of ISBN?
(C) Pure Notation (A) Group Identifier
(D) Plane Notation (B) Check Digit

194. A Firewall
(C) Link Digit
(D) Publisher Prefix

(A) Rejects access requests from
unsafe sources 199. Which of the following is/are the book

(B) Allow access requests from any selection tools?
sources (A) Publishers catalogue

(C) Switching system (B) Book sellers list
(D) Internet standard for information (C) National Bibliographies

195. In the context of information search, (D) All of the above

'AND', 'OR' and 'NOT' are 200. Dichotomy refers to
(A) Productive (A) Division into five
(B) Additive (B) Division into four
(C) Logical difference (C) Division into six
(D) Operators in searching (D) Division into two
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fB MKG-XlxrrECHLlB/1 T/06

191. ~G1RCffi <:fiT3l~ t 196. B~8R 'POSDCOR8' -ij 3l8R 'P'
(A) <rIG CfiBT ~ 3lRfTt I
(8) ~CfiBT (A) ~

(C) fu~ (8) '5ffi:rrq
(D) ~ (C) C<"IIRJI

~~t?
(D) lil;Jf)~H

192.
(A) ~W<n~ 197. ~ ~ :1«1CfiI("l;q~~~~ Cfi@

(8) ~~4"\IRi&i W<n~ fcn ~ -ij ~"S31T"!R ~ JIR1 fClfum"!R \lfR

(C) ~ ~ 11{(f 34Cfi(OI ~tl

(D) ~ ~ -ij ~ ~C:Clcnl<:fiT~ (A) PP8S
(8) ~ 31Tmfuf~

193. UDC-ij~~t (C) RtStficH ~
(A)~~ (D) ~~
(8) f?IT~~

~--a IS8N~mrr~t?
(C) ~~

198.

(D) WRR.1~ (A) ~ 4t5-qHCfidT

(8) ~~

194. ~ 4)1;q(ClI("l (C) m~
(A) 3lWf&=ffi maT-a$ ~ ~q Cf)) (D) SlCfiI~H~

3i fCft~d Cfi@ t
199. R JO:iRiU9d -ij -acnt.:r --a~ ~

(8) fcR:fi,:ft mo -a$ ~ • Cf)) fCft~d
34Cfi(OIt ?

Cfi@t
(A) SlCfiI~ICfi~C:I("lTJI

(C) ~R:PI~
(8) ~~~

(D) ~~llRCfi~ (C)~~

195. ~~~~-ij 'AND', 'OR' 3fu: (D) "3Cffiit BB'lft

'NOTt 200. SI~r.h1c:T4)-a~ t
(A) -;S(1.lIGCO (A) 1:fT:q -ij ~

"\

(8) '1'lJl 11,1OlCfi (8) 'qf(-ij~
(C) dlFctCfi~ (C) ~:-ij~
(D) ~-ij 4fh~I("lCfi (D) Glit~
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SPACE FOR ROUGH WORK

'{tf)~~~~
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SPACE FOR ROUGH WORK

~~~~~
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MKG-XlxrrECHLlB/1 T/06
IMPORTANT INSTRUCTIONS TO CANDIDATES

3uOC{cn.o ~ ~ qt?fCI~i ~
13. This booklet contains 48 pages. 13. ~ ~ 1l 48 ~ ~ I

14. Directions: Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (e) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

15. Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.---..,

I
I
I
I
I
I
I
I___ ...J

.1Wrong Method II Wrong Method Wrong Method Correct Method

10~00110000 O@OO oeoo
The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (e) the circle of
the appropriate column, viz., A, B, Cor D. If
you blacken (e) more than one circle against
anyone question, the answer will be treated
as wrong.

17. In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

18. Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

19. You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

14. ~ : ~ >rR 31~ ~ 31q3 <.n?R it ~
~"3W31~~Cf)~~-rm~ I~~

~ 31Tffi fcom \% cit ~ ~ ~ >rR Cf)f ~ "3W

~ ~ <.n?R cit ~ ~ 3fu: 31Tffi "3W ~ 1l
~ J rh,1ICfiR "&'R A, B, C <n D cit -;fu;n <n Cfi"R1

~-~ iR it Cfi"R1 (e) CflGf ~ I (<tftilallfu"fr
~lGCml $ f~ ~Tf('f TTl'R1CfiH ffifT.JCf) ~TU

enwn~~)

15. ~~ it~ ~ ~ '<tiT Rl'i5i<ti'1 ~ 31'RT

~ ~ I ~ eR -w.n ~ ~ ~ RlOiliPch<1 ~ I

Rl'i5iPch<1 ~ 'CfiT~ cRTCfiT ~ ~ TT<n~ I

~~~~
~~~~

~ cit 31'RT"3W 'U11'"ll{JCfi~ fcrcm: it~
~CflGf~ I

16. ~ >rR Cf)f ~ \% m ~ "3W ~ I 31Tffi
~ ~ ~ A, B, C <n D it In(,'lICfiI("&'R

cit CfiTffi (e) CflGf ~ I ~ 3Wf fcom >rR it~
. \% it 31fuCfi J n (,'IICfiR "&'R cit ~ (e) 01 3T]"qCfiT

~~l1RT~1

17. ~ fcom >rR ~ ~ <mr :mNft ~ 1l ~
3-Rn: ~ ol:mNft ~ cit m ~ ~ ~ I

18. ~"Cfi"T<f it ~ ~ >rR 1:{?f 1l ~ ~ ~ Cf)f

m ~ I "3W ~ "Cf( ~ "Cfi"T<f';:f ~ I

19. ~g~Cf)I~~31TtfCf))~~~~~ I

~~~~ittt~1
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